MAIRCY

MARCY PRO
UTILITY BENCH

PM-5788

IMPORTANT: Please read the Important Safety Notice and
Assembly Information in the Owner’s manual before assembling

this product.

Assembly Manual
180709




O©IMPEX INC.

www.marcypro.com



LS LIS 0Ty 2 Z00%

(2)x3
IR
@d)x1
L

X1
ML

Ga)x1
T

X1

O©IMPEX INC.

www.marcypro.com



2

@)x1
@x1
Gpxs Q)x 16 G9x2
i #4x1
] #5x1
; #6x1
) ><1
mm
D1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18
D P 2 4 4" S 6 7

O©IMPEX INC.

www.marcypro.com



@ ([ nmm ~ woew
© +

B@ x4 M10

O©IMPEX INC. 4 WWW.marcypro.com



M10x2 %"

www.marcypro.com

O©IMPEX INC.



M12x6 7/8"

@1
x 1 M12

e
©

® ® ©

www.marcypro.com

O©IMPEX INC.



M10x4 7/8"

M10x6 7/8"

x1

M10

www.marcypro.com

O©IMPEX INC.



x8 M8x1 5/8"

@ G -

®©

¢5/8"

x8

www.marcypro.com

O©IMPEX INC.



M10x%3 %"

@ § uwm

@ x2 Q%"

B @ x1  M10

www.marcypro.com

O©IMPEX INC.



www.marcypro.com

10

O©IMPEX INC.



IMPEX® INC.

2801 S. Towne Ave, Pomona, CA 91766
Tel: (800) 999-8899 Fax: (626) 961-9966
WWwWWwW.marcypro.com
support@impex-fitness.com

©IMPEX INC. 11 WWW.marcypro.com



http://www.marcypro.com/

